
【Answer and solution】
1．【Answer】D  

【Solution】  ∵
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2．【Answer】A

【Solution】
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therefor the solution to the equation is（0,1），the answer A。
3．【Answer】C

【解析】 For option A, 
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correct，so A is correct . For option B, 
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is correct，so B is correct。
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is correct，so D is correct.
4．【Answer】D  

【Solution】 
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5．【Answer】B  

【Solution】
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Let 
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6．【Answer】D  

【解析】 From the equation of
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，we can know that
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Therefore the slope of tangent line
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Therefore the slope of ax+y+1=0 is 2，so―a=2，meaning that a=―2。
7．【Answer】A  

【Solution】  ∵
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8．【Answer】y=1  

【Solution】  
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，then tangent line y=1。
9．【Answer】1  

【Solution】  
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10．【Answer】
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【Solution】 
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11．【Answer】 （―2，15）  
【Solution】  
[image: image33.wmf]2

'310

yx

=-

，令
[image: image34.wmf]2

'24

yx

=Þ=

，
P is in the second quadrant
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12．【Solution】
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13．【Solution】（1）
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　　　　  （2）∵
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14．【Solution】
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　　∴The tangential equation
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　　即5x+32y-7=0。
15．【Solution】∵
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